
Esercizio 1 

 

d = 29/6 m = 4,83 m 

 

Esercizio 2 

 

 = /2 - 2       NLEFT = mg sin()     NRIGHT = mg cos() 

 

Esercizio 3 

 

µ ≥ 2 − √3 ≈ 0,27 

 

Esercizio 4 

 

|𝐹⃗|
𝑀𝐼𝑁

=
𝑚𝑔

2
   con  𝐹⃗ inclinato di 60° rispetto alla verticale 

 

Esercizio 5 

 

𝜆1 =
1

2
(

𝑥2 − 𝑥1 − 𝐿

𝑠𝑖𝑛𝜃
−

𝑦2 − 𝑦1

𝑐𝑜𝑠𝜃
) 

 

𝜆2 =
1

2
(

𝑥2 − 𝑥1 − 𝐿

𝑠𝑖𝑛𝜃
+

𝑦2 − 𝑦1

𝑐𝑜𝑠𝜃
) 

 

Esercizio 6 

 

𝐴)   𝑝𝑒𝑟 𝑚 ≤
𝑘

𝑔
(2𝐿 − ℓ0)    →    ℓ𝐸𝑄 = ℓ0

1

(1 −
𝑚𝑔
2𝑘𝐿

)
 

 

𝐵)   𝑝𝑒𝑟 𝑚 ≥
𝑘

𝑔
(2𝐿 − ℓ0)    →    ℓ𝐸𝑄 = 2𝐿 

 

 


